
 S1

Supporting Information  

 
An Effective Method to Prepare Imines from Aldehyde, Bromide/Epoxide and Aqueous 

Ammonia 

Jing-Mei Huang,*,† Jue-Fei Zhang, † Yi Dong † and Wen Gong ‡ 

 

†  School of Chemistry and Chemical Engineering, South China University of Technology, 
Guangzhou 510640, People’s Republic of China 

   Email: chehjm@scut.edu.cn 
‡  Blue Star Xinghuo Silicone Plant, Jiujiang  330319, People’s Republic of China 
 
 
 
 
 
 
 
Table of contents 
 
 
General methods……………………………………..............................................................…..……..S2 
 
Experimental procedure………………………………………………………………………………...S2 
 
Spectroscopic data of products………………………………………………………...…..........……...S3 
 
Copies of NMR spectra of products………………………………………………………………….... S9 
 
References……………………………………………………………………………………………..S49 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 S2

General methods 
 
Commercial solvents and reagents were used without further purification with the following 

exceptions: benzaldehyde, furan-2-carbaldehyde, 1-bromobutane and butyraldehyde were distilled 
before use. crotyl bromide, 4-nitrobenzaldehyde, allyl bromide, Salicylaldehyde, furan-2-carbaldehyde, 
3-bromopropionitrile, 4-methoxybenzaldenyde, 4-cyanobenzaldehyde, 2-hydroxybenzaldehyde, 
2-bromobenzaldehyde, 4-chlorobenzaldehyde, cinnamaldehyde, benzyl bromide, benzaldehyde, 
1-iodobutane, 1-chlorobutane, styrene oxide, propylene oxide, cyclohexene oxide and 28 % (w/w) 
aqueous ammonia were commercially supported. 

Proton nuclear magnetic resonance (1H NMR) and carbon nuclear magnetic resonance (13C NMR) 
spectroscopy were performed 300 and 500 NMR spectrometers. Chemical shifts of 1H NMR spectra 
are reported as in units of parts per million (ppm) downfield from SiMe4 (δ 0.0) and relative to the 
signal of chloroform-d (J = 7.264, singlet). Multiplicities were given as: s (singlet); br s (broad singlet); 
d (doublet); t (triplet); q (quartet); dd (doublet of doublets); m (multiplets), etc. The number of protons 
(n) for a given resonance is indicated by nH. Carbon nuclear magnetic resonance spectra (13C NMR) 
are reported as in units of parts per million (ppm) downfield from SiMe4 (δ 0.0) and relative to the 
signal of chloroform-d (J = 77.03, triplet).  
 

 

Experimental procedure 
 
General procedure for the preparation of 3: A mixture of aldehyde (0.5 mmol), bromide (0.75 mmol) 
in 28 wt% aqueous ammonia (1.0 mL) was stirred in a sealed tube at 60 ℃ overnight. The reaction 
mixture was extracted with diethyl ether (2×10 mL). The combined organic layer was washed with 
water (5 mL), brine (5 mL) and then dried over anhydrous magnesium sulfate. The organic solvent was 
removed on a rotary evaporator under vacuum. The residue was purified by recrystallization for the 
solid products. And the oil products were purified by column chromatography on silica gel (hexane 
/ethyl acetate/ triethyl amine 100:10:1).  The silica gel was pre-neutralized with 1 % (v/v) of triethyl 
amine in petroleum ether before packing.   
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



Spectroscopic data of products 

 

N N

 

(NE,NE)-N,N'-dibenzylidene-1-phenylmethanediamine (6 1) 
δH (300 MHz; CDCl3; Me4Si) 5.99 (1 H, m, 1 × CH), 7.27-7.45 (9 H, m, 9×Ph ), 7.51-7.53 (2 H, m, 
2×Ph), 7.85-7.89 (4 H, m, 4 × Ph), 8.59 (2 H, s, N=CH).  
δC (75 MHz; CDCl3; Me4Si) 93.9, 128.7, 129.2, 129.9, 130.9, 130.1, 132.4, 137.5, 143.2, 162.1.  

 

N

 

(E)-N-benzylidenebutan-1-amine (3a, 2 73 mg, 91%) colourless oil.  
δH (300 MHz; CDCl3; Me4Si) 0.96 (3 H, t, J = 7.1 Hz, 3 × CH2CH2CH2CH3), 1.34-1.46 (2 H, m, 
CH2CH2CH2CH3), 1.65-1.75 (2 H, m, CH2CH2CH2CH3), 3.63 (2 H, dt, J = 1.2 Hz, 7.0 Hz, 
CH2CH2CH2CH3), 7.40-7.42 (3 H, m, 3 × Ph), 7.72-7.75 (2 H, m, 2 × Ph), 8.28 (1 H, s, N=CH).  
δC (75 MHz; CDCl3; Me4Si) 13.8, 20.3, 32.9, 61.3, 127.9, 128.4, 130.3, 136.3, 160.5. 
HRMS (ESI): m/z (M + H+) calcd. for C11H16N, 162.1283, found: 162.1278. 
 

 

(E)-N-benzylidenepropan-2-amine (3b, 3 63mg, 86%) colourless oil  
δH (300 MHz; CDCl3; Me4Si) 1.28 (6 H, d, J = 6.3 Hz, 2 × CH3), 3.55 (1 H, hept, J = 6.3 Hz, CH(CH)3), 
7.39-7.43 (3 H, m, 3 × Ph), 7.71-7.74 (2 H, m, 2 × Ph), 8.31 (1 H, s, N=CH). 
δC (75 MHz; CDCl3; Me4Si) 24.1, 61.7, 128.0, 128.5, 130.2, 136.4, 158.3. 
HRMS (ESI): m/z (M + H+) calcd. for C10H14N, 148.1126, found: 148.1126. 
 

 

(E)-N-benzylidene(phenyl)methanamine (3c, 4 88 mg, 91%) colourless oil 
δH (300 MHz; CDCl3; Me4Si) 4.86 (2 H, d, J = 1,2 Hz, NCH2), 7.27-7.48 (8 H, m, 8 × Ph), 7.81-7.84 
(2 H, m, 2 × Ph), 8.43 (1 H, s, N=CH) 
δC (75 MHz; CDCl3; Me4Si) 64.9, 126.9, 127.9, 128.2, 128.4, 128.5, 130.7, 136.1, 139.2, 161.9. 
HRMS (ESI): m/z (M + H+) calcd. for C14H14N, 196.1126, found: 196.1123.  
 

 S3



 

(E)-N-benzylideneprop-2-en-1-amine (3d, 5 66 mg, 90%) colourless oil  
δH (300 MHz; CDCl3; Me4Si) 4.26-4.28（2 H, m, 2 × CH2CH=CH2), 5.15-5.28 (2 H, m, 2 × 
CH2CH=CH2), 6.02-6.15 (1 H, m, CH2CH=CH2), 7.40-7.45 (3 H, m, 3 × Ph), 7.73-7.79 (2 H, m, 2 × 
Ph), 8.30 (1 H, s, N=CH). 
δC (75 MHz; CDCl3; Me4Si) 63.4, 115.9, 127.9, 128.6, 130.6, 135.7, 136.0, 161.8. 
HRMS (ESI): m/z (M + H+) calcd. for C10H12N, 146.0976, found: 146.0967. 
 

 

(NE)-N-benzylidenebut-2-en-1-amine (3e, 6 67 mg, 85%) colourless oil  
(2E,NE)-N-benzylidenebut-2-en-1-amine(main product)：δH (300 MHz; CDCl3; Me4Si) 1.72-1.74 (3 H, 
m, 3 × CH3), 4.19-4.20 ( 2 H, m, 2 × CH2), 5.66-5.71 (2 H, m, CH=CH and CH=CH), 7.39-7.43 (3 H, 
m, 3 × Ph), 7.74-7.77 (2 H, m, 2 × Ph), 8.28 (1 H, s, N=CH). 
δC (75 MHz; CDCl3; Me4Si) 17.8, 62.9, 126.3, 127.5, 127.9, 128.4, 130.5, 136.1, 161.3. 
 
(2Z,NE)-N-benzylidenebut-2-en-1-amine：δH (300 MHz; CDCl3; Me4Si) 1.72-1.74 (3 H, m, 3 × CH3), 
4.31-4.33 ( 2 H, m, 2 × CH2), 5.66-5.71 (2 H, m, CH=CH and CH=CH), 5.52-5.76(2 H, m, CH=CH 
and CH=CH) 7.39-7.43 (3 H, m, 3 × Ph), 7.74-7.77 (2 H, m, 2 × Ph), 8.33 (1 H, s, N=CH). 
δC (75 MHz; CDCl3; Me4Si) 13.3, 57.6, 126.3, 127.5, 128.0, 128.5, 130.5, 136.2, 161.4. 
 
HRMS (ESI): m/z (M + H+) calcd. for C11H14N, 160.1126, found: 160.1124. 
IR (KBr, cm-1): νC=N = 1644 
 

 

(E)-3-(benzylideneamino)propanenitrile (3f, 7 71 mg, 90%) colourless oil  
δH (300 MHz; CDCl3; Me4Si) 2.77 (2 H, t, J = 6.7 Hz, 2 × CH2CN), 3.84 (2 H, td, J = 1.2 Hz, 6.7 Hz, 2 
× CH2CH2CN), 7.42-7.46 (3 H, m, 3 × Ph), 7.73-7.75 (2 H, m, 2 × Ph), 8.36 (1 H, s, N=CH). 
δC (75 MHz; CDCl3; Me4Si) 19.5, 56.2, 118.3, 128.4, 128.6, 131.2, 135.3, 163.6. 
HRMS (ESI): m/z (M + H+) calcd. for C10H11N2, 159.0922, found: 159.0921. 
 

 
(E)-N-(4-chlorobenzylidene)butan-1-amine (3g, 8 87 mg, 89%) colourless oil  
δH (300 MHz; CDCl3; Me4Si) 0.94 (3 H, t, J = 7.3 Hz, 3 × CH3), 1.31-1.43 (2 H, m, 2 × 
CH2CH2CH2CH3), 1.62-1.71 (2 H, m, 2 × CH2CH2CH2CH3), 3.59 (2 H, td, J = 1.2 Hz, 7.0 Hz, 2 × 
CH2CH2CH2CH3), 7.33-7.37 (2 H, m, 2 × Ph), 7.62-7.66 (2 H, m, 2 × Ph), 8.20 (1 H, s, N=CH). 
δC (75 MHz; CDCl3; Me4Si) 13.9, 20.4, 32.9, 61.4, 128.8, 129.2, 134.8, 136.3, 159.4. 
HRMS (ESI): m/z (M + H+) calcd. for C11H15ClN, 196.0893, found: 196.0890. 

 S4



IR (KBr, cm-1): νC=N = 1646 
 

 
(E)-4-((butylimino)methyl)benzonitrile (3h, 9 73 mg, 78%) colourless oil  
δH (300 MHz; CDCl3; Me4Si) 0.94 (3 H, t, J = 7.3 Hz, 3 × CH3), 1.32-1.44 (2 H, m, 2 × 
CH2CH2CH2CH3), 1.63-1.73 (2 H, m, 2 × CH2CH2CH2CH3), 3.60(2 H, td, J = 1.2 Hz, 7.0 Hz, 2 × 
CH2CH2CH2CH3), 7.67-7.70 (2 H, m, 2 × Ph), 7.80-7.83 (2 H, m, 2 × Ph), 8.29 (1 H, s, N=CH). 
δC (75 MHz; CDCl3; Me4Si) 13.8, 20.4, 32.7, 61.5, 113.6, 118.5, 128.4, 132.3, 140.1, 158.7. 
HRMS (ESI): m/z (M + H+) calcd. for C12H15N2, 187.1235, found: 187.1233. 
IR (KBr, cm-1): νC=N = 1647 
 

  

(E)-N-(thiophen-2-ylmethylene)butan-1-amine (3i, 10 68 mg, 82%) colourless oil  
δH (300 MHz; CDCl3; Me4Si) 0.93 (3 H, t, J = 7.3 Hz, 3 × CH3), 1.30-1.43 (2 H, m, 2 × 
CH2CH2CH2CH3), 1.61-1.71 (2 H, m, 2 × CH2CH2CH2CH3), 3.56 (2 H, t, J = 6.9 Hz, 2 × 
CH2CH2CH2CH3), 7.02-7.05 (1 H, m, thienvl), 7.25 (1 H, m, thienvl), 7.34-7.36 (1 H, m, thienvl), 8.33 
(1 H, s, N=CH). 
δC (75 MHz; CDCl3; Me4Si) 13.8, 20.3, 32.8, 60.9, 127.1, 128.3, 128.9, 142.5, 153.8. 
HRMS (ESI): m/z (M + H+) calcd. for C9H14NS, 168.0847, found: 168.0840. 
IR (KBr, cm-1): νC=N = 1635 
 

  
(E)-2-((butylimino)methyl)phenol (3j, 11 75 mg, 85%) yellow oil  
δH (300 MHz; CDCl3; Me4Si) 0.94 (3 H, t, J = 7.3 Hz, 3 × CH3), 1.36-1.49 (2 H, m, 2 × 
CH2CH2CH2CH3), 1.63-1.73 (2 H, m, 2 × CH2CH2CH2CH3), 3.58 (2 H, td, J = 1.1 Hz, 6.8 Hz,  2 × 
CH2CH2CH2CH3), 6.84-6.98 (2 H, m, 2 × Ph), 7.22-7.33 (2 H, m, 2 × Ph), 8.32 (1 H, s, N=CH). 
δC (75 MHz; CDCl3; Me4Si) 13.7, 20.2, 32.8, 59.1, 116.9, 118.3, 118.7, 130.9, 131.9, 161,3, 164.3. 
HRMS (ESI): m/z (M + H+) calcd. for C11H16NO, 178.1232, found: 178.1233. 
IR (KBr, cm-1): νC=N = 1633 
 

 
(E)-N-(2-bromobenzylidene)prop-2-en-1-amine (3k, 12 105 mg, 94%) colourless oil  
δH (300 MHz; CDCl3; Me4Si) 4.29-4.31（2 H, m, 2 × CH2CH=CH2), 5.16-5.29 (2 H, m, 2 × 
CH2CH=CH2), 6.01-6.14 (1 H, m, CH2CH=CH2), 7.21-7.24 (1 H, m, Ph), 7.26-7.35 (1 H, m, Ph), 
7.53-7.54(1 H, m, Ph), 7.56 (1 H, dd, J = 1.8 Hz, 7.7 Hz, Ph), 8.66 (1 H, s, N=CH). 
δC (75 MHz; CDCl3; Me4Si) 63.4, 116.2, 124.9, 127.5, 128.7, 131.7, 132.9, 134.4, 135.5, 160.8. 
HRMS (ESI): m/z (M + H+) calcd. for C10H11BrN, 224.0075, found: 224.0071. 

 S5



IR (KBr, cm-1): νC=N = 1637 
 

 
(E)-N-(4-chlorobenzylidene)prop-2-en-1-amine (3l, 13 82 mg, 92%) colourless oil  
δH (300 MHz; CDCl3; Me4Si) 4.23-4.25（2 H, m, 2 × CH2CH=CH2), 5.14-5.26 (2 H, m, 2 × 
CH2CH=CH2), 5.99-6.12 (1 H, m, CH2CH=CH2), 7.36-7.39 (2 H, m, 2 × Ph), 7.66-7.69 (2 H, m, 2 × 
Ph), 8.23 (1 H, s, N=CH). 
δC (75 MHz; CDCl3; Me4Si) 63.4, 116.2, 128.8, 129.3, 134.6, 135.6, 136.6, 160.5. 
HRMS (ESI): m/z (M + H+) calcd. for C10H11ClN, 180.0580, found:180.0576. 
IR (KBr, cm-1): νC=N = 1649 
 

 
(E)-N-(furan-2-ylmethylene)prop-2-en-1-amine (3m, 14 63 mg, 93%) yellow oil  
δH (300 MHz; CDCl3; Me4Si) 4.19-4.22（2 H, m, 2 × CH2CH=CH2), 5.11-5.24 (2 H, m, 2 × 
CH2CH=CH2), 5.98-6.11 (1 H, m, CH2CH=CH2), 6.45-6.47 (1 H, m, furyl), 6.74-6.75 (1 H, m, furyl), 
7.49-7.50 (1 H, m, furyl), 8.08 (1 H, s, N=CH) 
δC (75 MHz; CDCl3; Me4Si) 63.6, 111.5, 113.9, 116.4, 135.5, 144.7, 150.3, 151.5. 
HRMS (ESI): m/z (M + H+) calcd. for C8H10NO, 136.0761, found:136.0761. 
IR (KBr, cm-1): νC=N = 1648 
 

 
(E)-N-(4-nitrobenzylidene)prop-2-en-1-amine (3n, 15 87 mg, 92%) yellow solid. Mp.62-63 ℃. 

(recrystallized from ethyl acetate and petroleum ether) 
δH (300 MHz; CDCl3; Me4Si) 4.25-4.27（2 H, m, 2 × CH2CH=CH2), 5.12-5.21 (2 H, m, 2 × 
CH2CH=CH2), 5.94-6.05 (1 H, m, CH2CH=CH2), 7.84-7.87 (2 H, m, 2 × Ph), 8.19-8.22 (2 H, m, 2 × 
Ph), 8.32 (1 H, s, N=CH).  
δC (75 MHz; CDCl3; Me4Si) 63.7, 116.8, 123.9, 128.3, 135.1, 141.6, 149.5, 159.6.  
HRMS (ESI): m/z (M + H+) calcd. for C10H11N2O2, 191.0821, found: 191.0819. 
IR (KBr, cm-1): νC=N = 1645 
 

 

(E)-N-((E)-3-phenylallylidene)prop-2-en-1-amine (3o, 16 76 mg, 89%) yellow oil  
δH (300 MHz; CDCl3; Me4Si) 4.13-4.18（2 H, m, 2 × CH2CH=CH2), 5.12-5.25 (2 H, m, 2 × 
CH2CH=CH2), 5.96-6.09 (1 H, m, CH2CH=CH2), 6.93-6.95 (2 H, m, CH=CHCH=N and 
CH=CHCH=N), 7.30-7.38 (3 H, m, 3 × Ph), 7.45-7.49 (2 H, m, 2 × Ph), 8.00-8.04 (1 H, m, N=CH). 
δC (75 MHz; CDCl3; Me4Si) 63.3, 115.9, 127.1, 128.0, 128.7, 129.0, 135.5, 135.6, 141.7, 163.4. 
HRMS (ESI): m/z (M + H+) calcd. for C12H14N, 172.1126, found:172.1124. 
IR (KBr, cm-1): νC=N = 1636 

 S6



 

(E)-1-(benzylideneamino)propan-2-ol (5a, 17 283 mg, 87%) white solid. Mp.74℃.(recrystallized 
from ethyl acetate and petroleum ether) 
δH (300 MHz; CDCl3; Me4Si) 1.28 (3 H, d, J = 6.3 Hz, 3 × CH3), 2.05 (1 H, br, 1 × OH ), 3.49 (1 H, 
ddd, J = 12.1 Hz, 7.9 Hz, 1.0 Hz, CH2CHOH), 3.72 (1 H, ddd, J = 12.1 Hz, 3.6 Hz, 1.2 Hz, 
CH2CHOH), 4.04-4.14 (1 H, m, CH2CHOH), 7.40-7.44 (3 H, m, 3 × Ph), 7.73-7.76 (2 H, m, 2 × Ph), 
8.34 (1 H, s, N=CH). 8.38 (1 H, s, N=CH, 5a′). 
δC (75 MHz; CDCl3; Me4Si) 20.5, 66.9, 68.5, 127.9, 128.2, 130.5, 135.5, 162.6.  
HRMS (ESI): m/z (M + H+) calcd. for C10H14NO, 164.1075, found: 164.1067. 
IR (KBr, cm-1): νC=N = 1645 
 

 
 (E)-1-(4-chlorobenzylideneamino)propan-2-ol (5b, 319 mg, 81%) white solid. Mp.53-54 ℃

(recrystallized from ethyl acetate and petroleum ether) 
δH (300 MHz; CDCl3; Me4Si) 1.27 (3 H, d, J = 6.3 Hz, 3 × CH3), 2.59 (1 H, br, 1 × OH ), 3.47 (1 H, 
ddd, J = 12.3 Hz, 8.0 Hz, 1.1 Hz, CH2CHOH), 3.69 (1 H, ddd, J = 12.3 Hz, 3.4 Hz, 1.2 Hz, 
CH2CHOH), 4.05-4.13 (1 H, m, CH2CHOH), 7.37-7.40 (2 H, m, 2 × Ph), 7.65-7.68 (2 H, m, 2 × Ph), 
8.27 (1 H, s, N=CH), 8.43 (1 H, s, N=CH, 5b′).  
δC (75 MHz; CDCl3; Me4Si) 20.9, 67.0, 68.8, 123.7, 128.8, 141.3, 148.8, 160.4. 
HRMS (ESI): m/z (M + H+) calcd. for C10H13ClNO, 198.0686, found: 198.0685 
IR (KBr, cm-1): νC=N = 1649 
 

   
(E)-2-(benzylideneamino)-1-phenylethanol (5c, 18 292 mg, 65%) white solid. Mp.114 ℃ . 

(recrystallized from ethyl acetate and petroleum ether, reported Mp. from the following ref.: 114.5 
℃). 
δH (300 MHz; CDCl3; Me4Si) 3.17 (1 H, s, 1 × OH), 3.73 (1 H, ddd, J = 12.4 Hz, 9.0 Hz, 1.0 Hz, 
CH2CHOH), 3.93 (1 H, ddd, J = 12.4 Hz, 3.3 Hz, 1.2 Hz, CH2CHOH), 5.03 (1 H, d, J =7.1 Hz, 
CH2CHOH), 7.30-7.47 (8 H, m, 8 × Ph), 7.74-7.78 (2 H, m, 2 × Ph), 8.33 (1 H, s, N=CH). 
δC (75 MHz; CDCl3; Me4Si) 68.9, 73.7, 126.1, 127.7, 128.3, 128.4, 128.7, 131.0, 135.8, 142.0, 163.3.  
HRMS (ESI): m/z (M + H+) calcd. for C15H16NO, 226.1232, found: 226.1223. 
5c′δH (300 MHz; CDCl3; Me4Si) 3.88-4.97 (2 H, m, CH2CHOH), 4.50 (1 H, d, J = 4.6 Hz, 8.3 Hz , 
CH2CHOH), 7.34-7.78(m, 10 × Ph), 8.40 (1 H, s, N=CH). 
IR (KBr, cm-1): νC=N = 1647 
 

 S7



 

(E)-2-(4-methoxybenzylideneamino)-1-phenylethanol (5d, 19 326 mg, 64%) white solid. Mp. 115℃. 

(recrystallized from ethyl acetate and petroleum ether) 

δH (300 MHz; CDCl3; Me4Si) 3.67 (1 H, ddd, J = 12.9 Hz, 9.0 Hz, 1.2 Hz, CH2CHOH), 3.85 (3H, s, 
OCH3), 3.89 (1 H, ddd, J = 12.6 Hz, 3.6 Hz, 1.5 Hz, CH2CHOH), 5.02 (1 H, dd, J =3.3 Hz, 9.1 Hz, 
CH2CHOH), 4.45 (1 H, dd, J =4.0 Hz, 8.6 Hz, CH2CHOH, 5d′), 6.92-6.95 (2 H, m, 2 × Ph), 7.29-7.46 
(5 H, m, 5 × Ph), 7.68-7.71(2 H, m, 2 × Ph), 8.26 (1 H, s, N=CH), 8.31 (1 H, s, N=CH, 5d′). 
δC (75 MHz; CDCl3; Me4Si) 55.4, 68.9, 73.7, 114.1, 126.1, 127.6, 128.4, 129.9, 141.1, 161.9, 162.6. 
HRMS (ESI): m/z (M + H+) calcd. for C16H18NO2, 256.1338, found: 256.1333. 
IR (KBr, cm-1): νC=N = 1661 
 

 
(E)-2-(benzylideneamino)cyclohexanol (5e, 20 365 mg, 90%) white solid Mp. 90℃(recrystallized 
from ethyl acetate and petroleum ether, reported Mp. from the following ref.: 90-92 ℃) 
δH (300 MHz; CDCl3; Me4Si) 1.33-2.11 (8 H, m, 8 × CH2), 2.31 (1 H, br, 1 × OH ), 2,98-3.06 (1 H, m, 
NCHCHOH), 3.69-3.77 (1 H, m, NCHCHOH), 7.38-7.42 (3 H, m, 3 × Ph), 7.70-7.74 (2 H, m, 2 × Ph), 
8.34 (1 H, s, N=CH).  
δC (75 MHz; CDCl3; Me4Si) 23.9, 24.1, 32.3, 32.5, 72.4, 76.3, 127.9, 128.0, 130.0, 135.3, 161.3.  
HRMS (ESI): m/z (M + H+) calcd. for C13H18NO, 204.1388, found: 204.1383. 
IR (KBr, cm-1): νC=N = 1644 
 

N
OH

H3CO  
(E)-1-(4-methoxybenzylideneamino)propan-2-ol (5f, 21 355 mg (a yellow oil, crude product), 92% 
yield as determined by 1H NMR (internal standard: nitrobenzene))  
δH (300 MHz; CDCl3; Me4Si) 1.15 (3 H, d, J = 6.3 Hz, 3 × CH3), 3.35 (1 H, ddd, J = 12.0 Hz, 7.8 Hz, 
1.0 Hz, CH2CHOH), 3.53 (1 H, ddd, J = 12.0 Hz, 3.9 Hz, 1.5 Hz, CH2CHOH), 3.93-4.05 (1 H, m, 
CH2CHOH), 6.77-6.80 (2 H, m, 2 × Ph), 7.52-7.54 (2 H, m, 2 × Ph), 8.04 (1 H, s, N=CH), 8.08 (1 H, s, 
N=CH, 5f′)  
δC (75 MHz; CDCl3; Me4Si) 20.5, 55.4, 67.6, 68.4, 114.0, 128.9, 129.7, 161.8, 162.0. 
HRMS (ESI): m/z (M + H+) calcd. for C11H16NO2, 194.1181, found: 194.1176. 
 

 
1-aminopropan-2-ol hydrochloride (10 22) 
δH (300 MHz; D2O; Me4Si) 1.21-1.23 (3 H, d, J = 6.4 Hz, 3 × CH3), 2.82-2.90 (1 H, m, CHCH2NH2), 
3.08 (1 H, dd, J = 13.1 Hz, 2.7 Hz, CHCH2NH2), 3.97-4.06 (1 H, m, CHCH2NH2) 

 S8



Copies of NMR spectra of products 
 

 
 
 
 
 
 

 S9



 

 
 
 
 
 
 
 

 S10



 

 
 
 
 
 
 
 

 S11



 

 
 
 
 
 
 
 

 S12



 

 
 
 
 
 
 
 

 S13



 

 
 
 
 
 
 
 

 S14



 

 
 
 
 
 
 
 

 S15



 

 
 
 
 
 
 
 

 S16



 

 
 
 
 
 
 
 

 S17



 

 
 
 
 
 
 
 

 S18



 

 
 
 
 
 
 
 

 S19



 

 
 
 
 
 
 
 

 S20



 

 
 
 
 
 
 
 

 S21



 

 
 
 
 
 
 
 

 S22



 

 
 
 
 
 
 
 

 S23



 

 
 
 
 
 
 
 

 S24



 

 
 
 
 
 
 
 

 S25



 

 
 
 
 
 
 
 

 S26



 

 
 
 
 
 
 
 

 S27



 

 
 
 
 
 
 
 

 S28



 

 
 
 
 
 
 
 

 S29



 

 
 
 
 
 
 
 

 S30



 

 
 
 
 
 
 
 

 S31



 

 
 
 
 
 
 
 

 S32



 

 
 
 
 
 
 
 

 S33



 

 
 
 
 
 
 
 

 S34



 

 
 
 
 
 
 
 

 S35



 

 
 
 
 
 
 
 

 S36



 

 
 
 
 
 
 
 

 S37



 

 
 
 
 
 
 
 

 S38



 

 
 
 
 
 
 
 

 S39



 

 
 
 
 
 
 
 

 S40



 

 
 
 
 
 
 
 

 S41



 

 
 
 
 
 
 
 

 S42



 

 
 
 
 
 
 
 

 S43



 

 
 
 
 
 
 
 

 S44



 

 
 
 
 
 
 
 

 S45



 

 
 
 
 
 
 
 

 S46



 

 
 
 
 
 
 
 

 S47



 

 
 
 
 
 
 

 S48



 S49

References 
(1)   Azizi, N.; Rajabi, F.; Saidi, M. R. Tetrahedron Lett. 2004, 45, 9233-9236. 
(2)   Gangadasu, B.; Narender, P.; Raju, B. C.; Rao, V. J. Indian J. Chem. B. 2005, 44, 2598-2600. 
(3)   Schoumacker, S.; Hamelin, O.; Teti, S.; Pecaut, J.; Fontecave, M. J. Org. Chem. 2005, 70, 

301-308. 
(4)   Bowman, R. K.; Johnson, J. S. J. Org. Chem. 2004, 69, 8537-8540. 
(5)   Tehrani, K. A.; Van, T. N.; Karikomi, M.; Rottiers, M.; Kimpe, N. D. Tetrahedron, 2002, 58, 

7145–7152. 
(6)   Gravestock, M. B.; Knight, D. W.; Thornton, S. R. J. Chem. Soc. Chem. Commun. 1993, 2, 

169-171. 
(7)   Nicolaou, K. C.; Mathison, C. J. N.; Montagnon, T. J. Am. Chem. Soc. 2004, 126, 5192-5201. 
(8)   Levin, V. V.; Dilman, A. D.; Belyakov, P. A.; Struchkova, M. I. Tetrahedron Lett. 2006, 47, 

8959-8963. 
(9)   Baroudi, M.; Robert, J.; Luu-Duc, C. Heterocycl. Commun. 1996, 2, 255-260. 

(10)   Sithambaram, S.; Kumar, R.; Son, Y.; Suib, S. L. J. Catal. 2008, 253, 269-277. 
(11)   Garnovskii, A. D.; Burlov, A. S.; Lysenko, K. A.; Garnovskii, D. A.; Borodkina, I. G.; 

Ponomarenko, A. G.; Chigarenko, G. G.; Nikolaevskii, S. A.; Minkin, V. I. 
Russ. J. Coord. Chem. 2009, 35, 120-127. 

(12)   D'hooghe, M.; Waterinckx, A.; Kimpe, N. D. J. Org. Chem. 2005, 70, 227-232. 
(13)   Tehrani, K. A.; Van, T. N.; Karikomi, M.; Rottiers, M.; Kimpe, N. D. Tetrahedron, 2002, 58, 

7145–7152 
(14)  Barluenga, J.; Gomez, A.; Santamaria, J.; Tomas, M. J. Am. Chem. Soc. 2009, 131, 

14628-14629. 
(15)   Grigg, R.; Stevenson, P. J. Synthesis 1983, 1009–1010. 
(16)   Van M. E.; Moonen, K.; Verwee, A.; Stevens, C. V. J. Org. Chem. 2006, 71, 7903-7906. 
(17)   Lerestif, J. M.; Perrocheau, J.; Tonnard, F.; Bazureaul, J. P.; Hamelin, J. Tetrahedron, 1995, 51, 

6757-6774. 
(18)   Tsuge, O.; Kanemasa, S.; Hatada, A.; Matsuda, K. Bull. Chem. Soc. Jpn., 1986, 59, 2537-2545. 
(19)   Pihlaja, K.; Juhasz, M.; Kivela, H.; Fulop, F. Rapid Commun. Mass SP. 2008, 22, 1510-1518 
(20)   McCasland, G. E. J. Am. Chem. Soc. 1951, 73, 3923-3926. 
(21)   Kanwar, S.; Sharma, S. Synthetic Commun. 2005, 35, 2149-2155. 
(22)   Saavedra, J. E. J. Org. Chem. 1983, 48, 2388-2392. 


